Cha
Intel
Insp
Indi
Emp
Posi
Neg
Jsat
Comnu
Comt

463

(t-test)



Seiv
Ovell

X

SD.

I

R

R3

R3 change

Beta

SE

mm

82



«)

«

20 -25
26 - 30
31-38
36 - 40
40

186
211

2
122
319

42
392
29

11
329
23

463

83

«

4022
598

02
45
263
689

91
847
6.3

240
11
50



6-10

n-15

16-20
20

1-5

n-1
15

6-10
n-15
15

fa —

9
108
211

18
92
31

25
435

175
101
67
120

84
116
59
49

02
0.9
171
233
585

04
39
199
158

06
54
940

318
218
145
259

181
251
127
106

84



,6-10

1-5
6-10
-1

6

36 - 40
02

11-15
04

898
;31 -35

91

20
233 1171 109

,6-10

B R &

=S8

~ &

40
263 4.5

11

585

15
199 3.9

85

97
132
106

402
07
86
305

01
09

4022
689
26-36
847
6.3

2

16-20 ,11-15

-5 02

158
1-5



9%

1-5

, 6 -10
86

145

9.1

318

305

L1

9.7

1-5
20.7

54
06

259 n-15
251

40.2 15
n-15



1

1

(N= 463 )5

284
241
250
252
2,64
2.39
263

2.56

SD.

0.66
0.76
0.79
0.62
0.68
0.75
0.78

0.2

87



(N =463)

X SD.

543 0.

546 071

325 054

363 038

307 047

417 054

7
363 038 1
1

543 1546 1325 307 060 1071 1054 047



«

«

« (t-test)
?

X SD. X SD
(N =230) (N=23)
542 056 542 062
S44 073 547 070
326 053 324 055
363 036 363 039
305 046 308 047

(t=0917 10.706 10.624 10980

«

89

{-test

0.917
0.706
0.624
0.980
0515

0515



A

0.3059*
0.2743*
0.3281*
0.4453*
0.3068*
0.2535*
0.1575*
0.3514*
0.4156*
0.2293*
0.3184*
0.2187*
0.3617*
0.4540*
0.2931*
0.3331*
0.2154*
0.3215*
04140
0.2217*

rm

90



*P<005

0.05

(1=03059 103281 104453 10.3068

0.05

1

(1=0.3514 104156

0.3150*

0.1808*
0.3983*
0.4688*
0.2651*
0.2622*

0.1608*
0.3550*
0.3860*
0.2157*
0.2248*

0.2085*
0.3168*
0.3859*
0.2168*

)

)

91

(1=02143)



0.05 1

| (1= 0253 10.1575 102293 )
005
(1= 03184 103617 104540 )
005
(1= 02187 102931 ) 005
1 (1= 03331, 03215 104140 )
005
(1= 02154 102217 ) 005
1 (1= 03150 103983 104688 )
005 -
(1=0.1808 102651 ) 005
.) 1
(1= 03550 10.3860 ) 005
1 |
(1= 02622 10.1608 102157 ) 005
1
(1 = 0.3550 103860 ) 005
1 |

(1=102248 10.2085 10.2168 ) 0.05



5 « fm
m 7
10 ’ (R)
(R2)
(R2change )
R
Emp 0.6524
Emp  Inch 0.5582
*P< b
10
(Emp)
05
3051
2
03116 (R2=103116)
05 !

065 (R2change =0.0065)

93

(Stepwise Solution ) (N - 463)

R2 R2change

0.3051
0.3116

(R2)

(Inch )

0.3051
0.0065

F

202.4291*

0.3001

3116

104.1054*



94

il
() (Beta )
b
(N=463)
SEb Beta t t sig
Emp 0.2404 0.0443 04153 5.434 0.0000*
Indi 00997 0.0480 0.1590 2.079 0.0382*
Contant 3.3926 52.823
R = 0558 Overall F = 104.1054*
R2 = 03116 Signit £ = 00000
* P< 0
i (Beta )
Beta ! ( Beta = 04153 )
( Beta = 0.1590 ) ‘
!
Y = 33926 + 02404 Emp + 00997 Indi

Z = 0AI53Emp + 01590 Indi
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